To write an article about Denver for a tourist magazine you would like to estimate the
average nightly cost for a hotel room in the Denver area. You open up the yellow pages
and take a random sample of 45 hotels from the hundreds of hotels.

The sample of 45 hotels gives an average nightly cost of $55.98 and a standard deviation
of $10.73.

a) Give a 95% confidence interval for the mean nightly cost of a hotel room in this area.
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b) The distribution of costs is not normal. The distribution is skewed because there are
several expensive hotels downtown. Explain why the confidence interval in (a) is valid
anyway.
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¢) The Denver Chamber of Commerce claims the average price is $54.50 per night. Is
you average of $55.98 unreasonable?
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d) Your editor finds the confidence interval in (a) is too wide. Describe two things that
can be done to make the interval narrower.
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